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6x+ 9x” + 6x — 2(x + 4x%)

T+ 5% — T+ 2 + 2x°

2(4x% + 6x) + 3% + 4x° — 3%

x> + 2x + 647 + 4(8x° + 8x°)

3(5x— 3x2) —dx+ 7% - 5x

2(2)(?2 + 3x3) — x> — 3% —ox°

20+ 6x°) — 6% + 6x + 9x°

6x” + 5x — x + 4(4x + 8)

2(2x3 + 6x2) — 3" — Ox° + 8&°

A(4x — 8x°) + 5x + 5x— Ox
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6x+ 9 + 6x — 2(x° + 4x?) 222 +3x%) =% — 32 - 9x°
7 — 8 + 12x 3>
T+ 5% — T+ 2 +2x° 2(x+ 6x°) — 6x% + 6x+ 9x°
473 + 122 — Tx 21x° — 6% + 8x
2(4x” + 6x) + 3% + 4x> — 3x° 6x% + 5x — x + 4(4x + 8x)
X+ 112 + 12x 6 + 52x
0 + 2x + 64 + 4(8% + 8x?) 2028 + 6x2) = 3 — 9 + 8¢?
41x° + 38%% + 2x 12x°
3(5x— 3x2)—4x+ 7% — 5x 4(4x — 8x3)+5x+ S5x—9x
—2x% + 6x —32%° + 17x
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